
Naam: 　　　　　　　 Datum: 　　　　　　 Score: 　　　

Negatieve exponenten van 10

323, 3 ÷ 10 =(−4) 4 × 10 =

10 =(−1) 200, 7 × 10 =(−3)

−1 × 10 =(−2) 397, 1 ÷ 10 =(−3)

10 =(−2) 10 =(−1)

−1 × 10 =2 10 =(−2)

10 =(−4) 335, 1 × 10 =(−1)

10 =(−2) 7 × 10 =(−4)

10 =(−3) 577, 8 ÷ 10 =(−3)

−1 × 10 =0 337 × 10 =(−1)

707, 7 × 10 =(−4) 755, 3 ÷ 10 =(−1)
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Naam: 　　　　　　　 Datum: 　　　　　　 Score: 　　　

Negatieve exponenten van 10

323, 3 ÷ 10 = 3233000(−4) 4 × 10 = 40

10 = 0.1(−1) 200, 7 × 10 = 0.2007(−3)

−1 × 10 = −0.01(−2) 397, 1 ÷ 10 = 397100(−3)

10 = 0.01(−2) 10 = 0.1(−1)

−1 × 10 = −1002 10 = 0.01(−2)

10 = 0.0001(−4) 335, 1 × 10 = 33.51(−1)

10 = 0.01(−2) 7 × 10 = 0.0007(−4)

10 = 0.001(−3) 577, 8 ÷ 10 = 577800(−3)

−1 × 10 = −10 337 × 10 = 33.7(−1)

707, 7 × 10 = 0.07077(−4) 755, 3 ÷ 10 = 7553(−1)
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